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Match the vector fields F with the plots labeled I-IV. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
(a) !(#, %) 	=	< # − %, % > 
(b) !(#, %) 	=	< 2, % > 
(c) !(#, %) 	=< #, −% > 
(d) !(#, %) 	=	< #, # >
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For Graph I, notice that above the x-axis, the vectors point down and below the x-axis, they point up. 
This means that the y-component of F should have something that looks like -y. This leaves us with 
option (c).  
 
For Graph II, each of the vectors appears to have a slope of 1 or -1, so the components of F should be 
equal, giving us option (d). 
 
For Graph III, notice that along the line y=x, the vectors appear to be vertical, suggesting that the x-
component of F is 0 along this line. This agrees with option (a). 
 
By process of elimination, Graph IV must be option (b). This lines up with the fact that all the vectors 
appear to have a constant x component.  
 
Remark: This is the all the more level of reasoning you need for the homework and in general.  
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Match the vector fields F with the plots labeled I-IV. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
(a) !(#, %) 	=	< 2,3,1 > 
(b) !(#, %) 	=	< #, %, 0 > 
(c) !(#, %) 	=< #, %, 0 > 
(d) !(#, %) 	=	< 	1,2, 0 > 
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IV 
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In Graph I, it’s hard to tell, but the z component of each of these vectors is 0, so the only vector field 
this works for is (b). 
 
In Graph II, the vectors appear to explode radially, which makes option (c) the best choice for this one. 
 
In Graph III, the z-direction of the vectors depends on the z-value, but they seem fixed in the x and y 
directions. This agrees with (d). 
 
In Graph IV, all the vectors are fixed, which agrees with (a). 
 


